Evaluating Expressions (A)

Evaluate each expression using the values given.

4+6-(a—1) 6. 2+ ((8—v+a)+4)
(a=2) (a=17,v=28)

2. (z—1)-10+10+y 7. ¢*+10—3+v
(y:4az:9) (0227‘}:4)

3. b—(34u)+a—a 8. (8:24+b+7)=5
(a=5,b=7,u=4) (b=28)

9 (32—a—|—9) X
(a=3,x=06)
10. 9 —v+x+v*
(x=8,v=2)
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Evaluating Expressions (A) Answers

Evaluate each expression using the values given.

(z=1)-10=10+y
(24 =9)

6.

10.

2+-((8—v+a)+4)
(_ 7,v=2_8)
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Evaluating Expressions (B)

Evaluate each expression using the values given.

8= (4(10—6))+z
(z=17)

B34+x+u—(c—1)
(x=7,c=3,u=9)

 (84c¢—2-38)?
(c=10)

6. 2-x+(c+8+¢c)
(x=6,c=5)
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Evaluating Expressions (B) Answers

Evaluate each expression using the values given.

8+ (4(10—6)) +z
(z=17)
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34+x4+u—(c—1)

(x=7,c=3,u=9)

=17

 (84c—2—8)°
(c=10)
= 64
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6.

10.

2-x+(c+8+¢)
(x=6,c=5)
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Evaluating Expressions (C)

Evaluate each expression using the values given.

L(c—c) +b+1 VP —(10—9)-b
(c=10,b=5) ( =7,v=4)

2.b—(54+4—a)+b 7.¢c+(b+y-2+06)
(a=17,b=5) (y=8,c=4,b=2)

3. b(b*+c—x) 8. (v—=(r—y)+(9+3)
(x=4,c=6,b=2) (y=9,v=3)
c+(c—c+v)- 9. c+y(a—(y—c))

" (c+:( 8,v:+8)) 5 (y:7va:y5>‘7=3)

5.10+2-7+v-5 10. (y—(6—(4+1)))
(v=10) (y=4)
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Evaluating Expressions (C) Answers

Evaluate each expression using the values given.

6. V> —(10—9)-b

.(c)bl
c=10,5=5)

10.

(b="T,v=4)
=57

c+(b+

g 7C_

+6)
b=2)
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Evaluating Expressions (D)

Evaluate each expression using the values given.

. 10(x—v)-7-4 6. (T+a*)-3+z

—_—

2. (b+4)+=((7T—a)-y) 6—4+2b

3.y+7+10—(c—10) 8. v+7-6—2a
(y:9)c:10) ((127,\/’:10)

4_u—|—1+x—y—6 99+(10—<Z—10))—Z
y=1Lx=9u=3) (z=10)

58:3(x—3)—x 10. (9+v—>0)(7—v)
(x=4) (b=17,v=2)
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Evaluating Expressions (D) Answers

Evaluate each expression using the values given.

. 10(x—v)-7-4 6. (T+a*)-3+z
b+4)+=((7T—-a)-y) 7.6+4+42b-c
a=1,y=6,b=9) c=2,b=7)
T _ 5
36 -2

. y+7+10—(c—10) 8. v+7-6—2a
(y=9,c=10) (a="7,v=10)

Lu+14+x—y—6 9.9+ (10— (z—10)) =z
(y=1,x=9,u=23) (z=10)
=6 =10

.8:3(x—3)—x 10. O+v—=>)(7—v)
(x=4) (b="7,v=2)=20
=20
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Evaluating Expressions (E)

Evaluate each expression using the values given.

8+u+x+3-7
(x=1u=4)

vi(z—=v)=+(c+2)
(c=1,z=9,v="17)

6.9+ (22+b)
(b=6)

7.v-(z—u)+6+8
z=4,u=3,v=10)

8. v-(y(10—¢))*
y=10,c=10,v =3)

9. (b—b+5+4)-9
(b = 10)

10. c+x—3+x-x
(x=10,c=17)
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Evaluating Expressions (E) Answers

Evaluate each expression using the values given.

8+u+x+3-7
(x=1u=4)
=34

6.9+ (22+b)’
(b=6)
81
4
7.v-(z—u)+6+8
(z=4,u=3,v=10)
-3

9. (b—b+5+4)-9
(b=10)
=81

10. c+x—3+x-x
(x=10,c=17)
4
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Evaluating Expressions (F)

Evaluate each expression using the values given.

. (5x—z-2)-3
(x=5,z=15)

4> =5.b+b
(b=6)
b+-x-(y—1)-b
(y=3,x=3,b=7)
8§—(v—Tv+38)
(v=38)

(v—(c—3))-c+3
(c=8,v=10)

6. 3(10+z—v=3)

(z=1,v=2)
7. 8— (x—x)=(3+10)
(x=35)

10. a=(a+(9+9))
(a=2)
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Evaluating Expressions (F) Answers

Evaluate each expression using the values given.

. (5x—z-2)-3

(x=5,z=15)

=0

4> +5-b+b
b=6)

— 16

R

b+x-(y—1)-b

(y=3,x=3,b=7)
98

-3

8—(v—Tv+8)

(v=28)

=77

(v—=(c—=3))-c=+3
(c=8,v=10)

«[E |l

6. 3(10+z—v=3)
(z=1,v=2)
31

(x=9)
=16

9. (a—8)"z+z
a=8,z=15)
=0

10. a<+(a+(9+9))
(a=2)
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Evaluating Expressions (G)

Evaluate each expression using the values given.

3(5+2%) - .5b—9+b+1

1<y(:+4>) ' “b=3)

2.yv—6-x+v 7. (c—v+v)+(y—3)
(y=4,x=2,v=4) (y=8,c=8,v=9)

3.2 Z3—(y—z) 8. 3—v(c+10—v)
(y=7,2=2) (c=5,v=2)

4. 5+1+(b—b) 9. x=(z(2+3-5))
(b=28) (x=17,z=2)

R el 18
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Evaluating Expressions (G) Answers

Evaluate each expression using the values given.

: 3(5—|—22) —y
(y=4)

6.

10.

56—-9+b+1
(b=3)
=10

(c=v+v)=(y—3)
(y7:8,c:8,v:9)

5

3—v(c+10—v)
(c=5,v=2)
=13

10+8—2+cv
(c=10,v=28)
=96
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Evaluating Expressions (H)

Evaluate each expression using the values given.

6—(5+a) +8
(@a=35)
U2 -u+u-=v
u=10,v=4)
x—(10—y)—4-+9
y=8,x=38)
v+2—v+(b+38)
(b=3,v=10)
3+z-bv+7
(z=2,b=9,v=2)

6. 24+u+5—6+x
(x=10,u=1)

9.34+10—u*—6

10. (u—c)+ (c+ut)
(c=3,u=3)
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Evaluating Expressions (H) Answers

Evaluate each expression using the values given.

L 6—(5+a)+38 6. 2+u+5—-6+x
(a=3) (_x:10,u:1)
=13 -
U2 uu+y 7. (9—a+5a)+c
u=10,v=4) a=6,c=9
— 2 _ 1
4 -3
- x—(10—-y) =49 8. 44 y(104b) =3
(y=8,x=28) (y=9,b=1)
__ 50 Y )
=79 =37
Vr2—v(b+8) 9.3+10—u*—6
(b=3,v=10) W=1)
=4 =
I
3+z-bv+T7 10. (u—c)+ (c+ut)
(Z:27b297v:2) (023,1/!:3)
— 27 —0
7
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Evaluating Expressions (I)

Evaluate each expression using the values given.

T+ x+x+u?
(x=10,u=3)

y+(z+2)+10-y
(y="7,z2=17)

6. x+(2+x+1)—1
(x=10)
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Evaluating Expressions (I) Answers

Evaluate each expression using the values given.

V= (v’
(v=5)
=24

6. x+(2+x+1)—1
(x=10)

:2
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Evaluating Expressions (J)

Evaluate each expression using the values given.

. 2+(6-2+(42)) 6.a+c(y—6)=+1
(z=9) (a=8,y="7,c=5)

2.7+ (4x+(x-x)) 7.9—a(9+4+7)
(x=2) (a=2)
.(x+2—|-b-b)-10 (a—a)= (V3
A 3 Ea:8)7y :(y3)y)

4. (b+b+c*) +c 9. 84+ y—u=+7-2
(c=2,b=1) (y=6,u=9)
—(z—z)+z-9 10. (a+y+7+3)-3

4 <
(z=7) (a=4,y=06)
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Evaluating Expressions (J) Answers

Evaluate each expression using the values given.

\9]

+~(6-z+(4z))
(Z4=9)
7+ (dx+(x-x))
&=2)
x+24b-b)-10
(x=17,b=2)
=175

6.a+c(y—6)=1

(a=8,y="7,c=5)

8
5

7.9—a(9+4+7)
(@a=2)
=67

9. 84+y—u-=7-2

(y=6,u=9)
80
7
10. (a+y +7+3) 3
(a=4,y=6)
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